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3URJUDP���$QJNDWDQ�����0DJLVWHU�0DQDMHPHQ���:LMDZL\DWD�0DQDMHPHQ���

-XGXO�7HVLV�������������������5DQFDQJDQ�3HQ\HPSXUQDDQ�6WUDWHJL�3HQJHPEDQJDQ�6XPEHU�
'D\D�0DQXVLD�GL�37�+XWDPD�.DU\D�3HULRGH������± ����

3RNRN�3HUPDVDODKDQ���

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQ\XVXQ� UDQFDQJDQ� SHQ\HPSXUQDDQ VWUDWHJL�

SHQJHPEDQJDQ�VXPEHU�GD\D�PDQXVLD�GL�37�+XWDPD�.DU\D��3HQ\HPSXUQDDQ�VWUDWHJL�

WHUVHEXW� GLKDUDSNDQ� GDSDW� PHQGXNXQJ� WHUFDSDLQ\D� VDVDUDQ� GDQ� VWUDWHJL� ELVQLV� 37�

+XWDPD�.DU\D�\DQJ�EDUX�

3HQXOLVDQ�LQL�WHUPDVXN�MHQLV�SHQHOLWLDQ�NXDOLWDWLI�GHQJDQ�PHQJJXQDNDQ�WHRUL�6WUDWHJL�

3HUWXPEXKDQ�GDUL�$QVRII� ������� GDODP�0RRUDGLDQ�� HW� DO� ������� GDQ� WHRUL�7LSRORJL�

6WUDWHJL� %LVQLV� 3HUXVDKDDQ� ROHK� 0LOHV� GDQ� 6QRZ� �������� .HGXD� WHRUL� WHUVHEXW�

GLJXQDNDQ�VHEDJDL�WRROV�XQWXN�PHQHQWXNDQ�DUDKDQ�VWUDWHJL�ELVQLV�37�+XWDPD�.DU\D��

0HPDVXNL� UXDQJ� OLQJNXS� 0DQDMHPHQ� 6XPEHU� 'D\D� 0DQXVLD�� GLJXQDNDQ� WHRUL�

7LSRORJL� 6WUDWHJL�0DQDMHPHQ� 6XPEHU� 'D\D�0DQXVLD� ROHK�0LOHV� GDQ� 6QRZ� �������

GDQ� WHRUL� SHPHWDDQ� NRQWLQXXP� NHPDWDQJDQ� SHQJHPEDQJDQ� VXPEHU� GD\D� PDQXVLD�

VWUDWHMLN� ROHK�0F&UDNHQ� GDQ�:DOODFH� ������� GDODP�0LOOPRUH�� HW� DO� ��������.HGXD�

WHRUL� WHUVHEXW� GLJXQDNDQ� VHEDJDL� WRROV� XQWXN� PHQHQWXNDQ� DUDKDQ� LGHDO� VWUDWHJL�

SHQJHPEDQJDQ�VXPEHU�GD\D�PDQXVLD�GL�37�+XWDPD�.DU\D�

'DUL�WHPXDQ�GDQ�KDVLO�DQDOLVD�EHUGDVDUNDQ�NHHPSDW�WHRUL�WHUHEXW��PDND�GDSDW�GLVXVXQ�

UDQFDQJDQ� SHQ\HPSXUQDDQ� VWUDWHJL� SHQJHPEDQJDQ� VXPEHU� GD\D� PDQXVLD� EHVHUWD�

UDQFDQJDQ�LPSOHPHQWDVLQ\D�XQWXN�37�+XWDPD�.DU\D�SHULRGH������± �����


